Wednesday’s Maths Key Slides

Times Table Practise
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Multiplication is commutative.
Do you remember what this means?

E.Q.3x2=60r2x3=6

Addition is also commutative, but division
and subtraction are not.

E.g.8-2=6isnotthesameas2-8=7
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This is also useful to remember
when you are multiplying three numbers.

To find the most efficient order in which to
multiply three single digit numbers we
need to use the

Associative Law

EQg.2x7x5=2x5x7

The Associate Law helps you to decide which
order to put the numbers in in a way that suits
you.
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Associative L aw
7x3x2= 49
2x3= 6
OXRT= 142




